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I Analysis of law of na™wa n3 na
Rn1interprets v.1
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We might have considered it to include even naw »%n — therefore it states m> — only relating to muar

1 Justification: per v, who regards na™w as more severe; R*70 that since 0’302 have more nn¥n, perhaps she
gets N9Mw instead of nYpo for naw 5o
(a) Question: why would she be judged more severely than a male jn2?
(b) Answer: male ©21n2 have a relaxed rule about naw, in re: iy >perhaps their winy is “lighter”

as a violation of adultery, (i.e. she is married)

1 justification: to stand counter to X"’s opinion — NN NRVWY MR HY RaN MO

with any man (not just father),

1 justification: R"70 contra X171, who learned (via nn::nin, nnr:nnr) that if father has relations with his daughter
the wny is 9w and we would think that by singling out 112 na - Y87’ na doesn’t get Naw - Y"np

even if she’s married, & older than naya

even applies if she is married to a non-1n, as per jn3 W& N1 — even if married to n% 5o

1 justification: "0 since it states Ynn »3, but this one has already nmr as per v. 2 (even v. 3 vis-a-vis nmIn) — 5"np

2 note: this is contra n”, who rules that if she was 0% 50a8% n%pa), no longer gets namvw

However: ®n focuses on her — she gets N9 but n>nmir do not (they get pan or n%’po as above)

N77. NP0 PN NRY NIV IR NR

1 Cannot mean: if she had relations with father, n97; with F-I-L — n%»pvo; that’s true for anyone

2 May mean: while in domain of father (7o1IR) — N91v; in domain of FIL (nxwi) — n»po
(a) Block: cannot follow 1329, nNYnw "1 or YrYNY 1 (who would rule pin for nrwvi)

3 Solution#1 (n72 »or 73): follows 13117, means “any circumstance where the execution would be less severe than
7718 (N9MW) — 119 N2 gets N9*Y; if more severe (N2pv) —e.g. as an NV with anyone — N9 po (like FIL) - nabn
(a) Challenge: doesn’t say nvon or nyyny, which are key to this resolution

4 Solution#2 (/207 7): follows »"1 — if in domain of father, na»w; if with FIL- n%pv; if with anyone else — pan
(a) Challenge (X27): sequencing is inconsistent

5  Solution#3 (827): follows W™, but X" compares NIIN:NRIVI; each, as 112 N3, is moved up one level
(a) Therefore: no1IR moves from NY’po to N9IWY; NRIWI moves from pan to NY»po
(b) Challenge (pax 72 »rx 77): W™ explicitly ruled that both get na™w

6  Solution#4 (»2237): follows 1127 and wording is inversed — father is naywa and FIL n%»poa (wording like Rapn)

Tangent: YRynw’ "1 (invoked above): v. 4 includes mxwy; just as YRIW’ N2 NOMR is singled out, so 1012 nais only noMIR
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Continuation: n>y11y nmir are included in v. 5
1 Question: how is nY»a associated with v. 5
2 Rather: onnw are treated like nb»13, as it says »nRY and not 1mnKrY
Counter (¥9): both no1IR and N1 get Na™w (like w™) — from Par:ar (vv. 1, 3)
1 Challenge: if so, include an nvyIR
2 Answer: " learns nay as excluding nma
(a) Swypw /1 uses N1y na to include even min Mbya (R™70 just as 0213 are distinguished that way...)
(b) »77 infers that from v. 6 ("8ynW’ "1 — from that, R”7o that only men have omna nnns nvyTp)
3 Challenge to 5xyp’ “1 how does he interpret n%onn ®°n n7ak Nk (which y™ used to include nxwa)
(a) Answer: as per n™ — that we degrade her and her father’s family
(i) Note (»wx "): those who refer to a Y1 12 Y1 these days are following n™

II  Rhetorical note on the mwn — which ends with phrase pPYpoin nnign
Explanation: since the previous chapter explicated n5po mxn, it sums it up to be ready to move to namw
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